28/06/2016 College Lecturer Exam - Botany-II

Rajasthan Public Service Commission - 2016 o
ues: 150

Paper : Botany-II Time: 3 Hours

Ques # :1

If in a cell the value of osmotic potential in 20 atm. and pressure potential is 20 atm., after sometime because
of osmosis, the cell becomes partially turgid and finally completely turgid. At this stage(completely turgid), the
value of Diffusion Pressure Defficit will be

1) Zero atm.
2) 40 atm.
3) 20 atm
4) -20 atm.

I v FIAFT & GTAIT AT FT AT 20 atm. § 0T ST F337a FT AT 20 atm. T, F& THI TRATT
YRTEOT GART HIRART HTFAF FHIT Ta 37 7 qot T 81 Sraaft| 57 (ot FhIer) raeam F fawsor
&Te Tl T ATl 1T

1) [T atm.
2) 40 atm.
3) 20 atm.
4) - 20 atm.

Ques # :2

A teacher while demonstrating in the practical class, took some gram seeds in a glass bottle and poured some
water into it. He replaced the lid of bottle, sealed and left for 48 hours. He observed that the glass bottle was
broken. This could be because of one of the following-

1) Release of Oxygen during photosynthesis

2) Osmotic pressure due to osmosis by the seeds

3) Creation of vaccuum due to intake of carbondioxide for calvin cycle.
4) Imbibition pressure caused by the seeds.

v faTe & GrafAE et F yeeker 3 Fra 1 dlae F 99 F Fo &I A vd 35H AT e srer
ferar| sierer &1 Gerehet ST T TT Wl FIF 48 B & AT 7@ feran| St o AT GHT ¥ i hy A
ol RIS R RN ECEE R £ S

1) sraprer TeaiwoT Y Iote A JHerdiatsT fawgerd g

2) ST # RIEROT Y Ioig & RIERIT &1 Sce=T gleTl|

3) &feaet T & FeeT SS3TFASS & TguT § a1 3cue g

4) A g@RT 3ot 3ed: IO T 3

Ques # :3

When an irrigated potted plant is cut just above the ground level and a manometer is attached to stump with
the help of piece of rubber tube so that no air enters in it. There is rise in mercury level after sometime, This is
because of

1) Root pressure

2) Pulsation in living cells of root
3) Capillary action in xylem cells
4) Imbibition force

o9 v FAfRre arerer & ler Y o7fr oy wae & AT I Fre fAr Sne AR v W dr el Fgws A
HETIT & AAAIT F1 g3 (FeFT) ¥ N3 A1 ST fHwd arg qa9r 76t FT oh| F© THT qRaATd
FIHL T T 9 SATAT & SHRT HROT §-

D) agerarer
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2) FeT 1 HIAFTI 3 e
3) ar& RT3 7 HPrT
4) 3ed: AT |

Ques # 4

When S = Number of stomata per unit area, E = Number of epidermal cells per unit area, The Stomatal
Index(I) can be calculated by the formula-

D= £ %100
E+5

2) I:¥X1nu

3 1=55 %100
E

4) 1= = x100
E+5

Ifg S = sh1S 81T H T T TEAT @Y E = 51 &1 H 91 cadr 1 FIfRA131t i T&ar g aY Tuih(1)
&Y IToTeT & forT g7 8-

D |= —— X100

2) 1==2 x 100

3) 1= 22 x 100

4) 1= = x 100

Ques # :5

In succulent plants (CAM plants), some physiological processes which occur in stomata are listed below A.
Malic acid accumulates in vacuole. B. From Vacuole malic acid is transported to Chloroplast. C. Starch is
synthesised in the chloroplast. D. Starch is converted into phosphoenolpyruvate in chloroplast. Select the
processes which occur during opening of stomata-

1) A,BandC
2) AandC
3) AandD
4) B,Cand D

Hiwe 91gaT (CAM 9TEH) & Wul & g1 arell & FRAAT FFame i & 78 3- A. RiFasr d afas
3TFoT FT Th AT 811 B. RIFTT @ AT 31T T gRATadh A TAaR0T 811 C. gRdeTas & Al
T FLAYOT 11| D. gRATTF H HIS FT BIEBISAITIITAC H TN §1eAT| T8l & ok & T
gYet arelt et Y gfare-

1) A,BwdcC

2) ATEC

3) AwdD

4 B,cudD

Ques # :6

Plants require many elements for their growth. Some elements are required in very small quantity and are
called trace elements or minor essential elements. These are-

1) Sodium, Phosphorus, Magnesium and Copper
2) Boron, Manganese, Zinc and Molybdenum

3) Silicon, Sulphur, Nitrogen and Calcium

4) Potassium, Zinc, Chlorine and Carbon
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e & & T 5§ Teal 1 AT g1ell §] TS FAeal Y ATRADT TgT oA AT A Aell & 378
H&H decd I Y HTaRTF decd FeA 0| T8 © -

D) @feas, wienry, A7nRgs g siaw

2) IR, Feretrar, i g Alforesaa

3) faforiet, G, ATScioreT a $hiorraa

4) R, oo, el & e

Ques # 7

A farmer while visiting his field observed that plants are showing distortion and drying of plants from tip to
downwards (Die back symptom). The field is probably deficient in-

1) Boron
2) Copper
3) Iron
4) Zinc

e R oY 370 R o ForDaToT e o T o et 3 R & v ey ot @ o P e @
T2 & (fwsiY oraton)| @ F FAY g ! 8-

D aRer

2) R &

3) 3R

) foieh

Ques # :8

Name of Scientists(I) and their contribution(Il) is given below. Make correct match:- I II A. Louis Pasteur 1.
Crystalized Urease Enzyme B. Kuhne 2. Discovered Zymase Enzyme C. Buchner 3. Used term Ferments for
Enzyme D. Sumner 4. Coined the term Enzyme

1) ABCDiiiiiiiv
2)ABCDiviiiii
3) ABCDiiiiiivi
4)ABCDiitiviii

deTferent & ATA(I) T 3T ARG (1) A o arar 3] e fArams FIA- 1 1AL o5 TR 1.
IRUST TASTIH FT FhTefahIoriadn B. $e« 2. AHS TAATIA HT Giel 1| C. T 3. TASAEH
& ToT BIATH Usg T TAWT fH AT D. FHAR 4. 2AeE TTSATIH FT AT f&m|

1) ABCDiiiiiiiv

2) ABCDiviiiiii

3) ABCDiiiiiivi

4) ABCDiiiiviii

Ques # 9

The prosthetic group of enzyme is -

1) Firmly bounded protein with an enzyme.

2) Firmly bounded non protein part with an enzyme
3) Loosely bounded inorganic metal with an enzyme
4) Loosely bounded organic cofactor with an enzyme

TAATIH FT A wHg 2-

D) weremmes & Tedr & ST e

2) UASTIH F Tl Y ST AleT W 1T
3) TSIRIA § el 94 eI g
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1) TSI A &1 I FIafeTh TehR

Ques # :10

Given below are names of co-enzymes(I) and their functions(II). Make correct match- I IT1 A. FAD 1.
Phosphate group transfer B. ATP 2. Carboxyl group transfer C. Biotin 3. Decarboxylation D. Thiamin
Pyrophosphate 4. Transfer Hydrogen

1)ABCDiviiiiii
2)ABCDiiiiiiiv
3)ABCDiviiiii i
4)ABCDiviiiiii

A1 fore WEUTSIH (1) TF 3% FTR(I) FT @) fAdT HfSA- 111 A, TE.C.I(FAD) 1. HIEHE HAHE

FT FYTATOT B. TEALHNATP) 2. FETTFET HHE FT TAEAR0T C. Irfee 3. faFeEfaafasor .

TR IRRIGIEbE 4. §TSEIS HT TUTHATTAT0T
1) AB CDiviiiiii
2) ABCDiiiiiiiv
3) ABCDiviiiii i
4) ABC D iviiiii i

Ques # :11

Isozymes are formed due to point mutation and these are characteristized as enzymes which have-
1) Different molecular weight but are similar in function

2) Different molecular structure but are similar in function

3) Different function but silmilar in molecular structure

4) Different function but similar in molecular weight

HTSHISTAFH 1 fAHT0r g ScaRade 1 aore § gia1 ¥ | 78 W veoirad ¢ ey faerwar -
1) go1ent 3170TTa® 9IR et Ud S GAT glaT &

2) goThr 3MMUTTeh TR o= Td 1 HATA GIaT ¥ |

3) getehT I et TG 3TUTTIeR TXAT TAT gich &

4) gerehr ahrt et T TUTTIeR TR TS YT

Ques # :12

In C-3 plants, for synthesis of one molecule of glucose
the number of molecules of H,O, NADPH and ATP
required respectively are-

1) 6,6 and 12
2) 12,6 and 18
3) 11,12 and 18
4) 12,11 and 36

C-3 9iedl # T Y] Teldblel & Teewor & f&v HyO, NADPH
vd ATP & Toder 33T &1 3faedehar gidl 87 O &HT &

1) 6,6Td 12

2) 12,6 T4 18
3) 11,1204 18
4) 12, 11 79 36
Ques # :13

The number of photons needed for evolution of one molecule of oxygen in photosynthesis is-
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1) 8
2) 2
3 12
4) 18

YHTHAYUT H U H(FHISTeT 3] F 3cqee g1ol & forT frcter Bl hY HraeIqFHar gieit 82
) 8

2) 2
3) 12
4) 18
Ques # :14

During photosynthesis the oxygen in glucose molecule comes from -
1) Carbon dioxide

2) Water

3) Oxygen

4) Both Carbon dioxide and Water

D) Frdet srssiiraes @

2) ST

3) sftereieteT &

4) I+ SIEHTFATSS Td STl At &

Ques # :15

In Calvin cycle the assimilatory power is used during-
1) Formation of PGA

2) Conversion of PGA to PGAL

3) Formation of Fructose 1, 6 diphosphate from PGAL
4) Formation of glucose- from Fructose di-phosphate

hfeasT I H TR AfFd FT 39FET gar 8-

D) drsfio(PGA) & f#ToT 3]

2) fiShT(PGA) &1 1.5 T.TS.(PGAL) F ST #|

3) &Y ST T (PGAL) & SheFeld-1, 6 STS-BIEPhE & AT #|
4) eI 3T BIEhe I Tefehiot o fATOT 3|

Ques # :16

A chlorophyll molecule has-

1) One Pyrrole ring, Magnesium ion, Keto- group and phytol chain.

2) Five Pyrrole rings, Magnesium ion, methyl or keto group and phytol chain

3) Two pyrrole rings, Magnesium ion, methyl or keto group and aliphatic chain

4) Four Pyrrole rings, Magnesium ion, methyl or aldehyde group and phytol chain

T FeRIfher 3707 & BT -

D) wes arerter Rer, AR 37, HieY 79 vd wrserd I

2) aer arRter er, AR 3mae, frarrer a1 HieY 39 vd wrgete AT

3) gy areRYer R, AR 3, MR ar Hiet 79 vd o fes 3

%) TR areter Rar, AT RITw 3o, e ar ufeserss g9 vd s A
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Ques # :17

Water soluble pigments of plants are-

1) Anthocyanin and chlorophyll-b

2) Carotenes and Xanthophylls

3) Chlorobium chlorophyll and chlorophyll-d
4) Phycoerythrin and Phycocyanin

STl # gerereiier TreT vl §-

D trargraf@ae g FaRIfhe-b

2) FifesT g Siafther

3) FARITH FRIheT T FARIhl-d
4) BIgRIE T T BRI

Ques # :18

Some characters of pigment system of green plants are listed below- A. Takes part in both cyclic and non
cyclic electron trasport system. B. Active center is P680. C. It is connected with photolysis of water. Mostly
present in stroma lamellae The characters related to PS II are-

1) Aand B
2)A and D
3)Band D
4)B and C

X UTEUl & JUIE dF F FS AT A U T §- A, 9T va srafrT et serae Fueawor v A
HTT AT 3| B. 3WHT WiHFT g P680 8] C. IHHT WFawtl Sief faweet ¥ 8] D. HET: FAT aAfdrelt F
3T 8T §| &TUT Y PS 11 & Gl &) 38 &-

) A 3B

2) AXRD

3) B3R D

YB3RC

Ques # :19

Which one is the correct path of electron in pigment system II (PSII) of photosynthesis?
1) P680—» PQ—» Q—» PC —» Cytf—» P700—» NADP

2) P680 —»PC —» Q—» PQ—» Cytf—» PT00—» NADP

3) P6B0—» Q—»PQ—» CytfF»PC—» P700 —» NADP

4) PT00 —» Q —» PQ—»PC —» Cytf—»P680—NADP

YT WAYYT & quish o 11 (PS 11) H SAFEIT TATATcIOT T Wl vl F4T §2
1) P680—» PQ—» Q—» PC — Cytf—» P700—» NADP

2) P680 —»PC —» Q—» PQ—» Cytf—» P700—» NADP

3) P630—» Q—»PQ—» Cytf»PC—» P700 — NADP

4) PT00 — Q — PQ—»PC—» Cyti»P680—»NADP

Ques # :20

What is common in Phycobilins and Chlorophyll a?
1) presence of Phytol tail in their molecule

2) Presence of magnesium ion in their molecule

3) Presence of pyrrole ring in their molecule

4) Their absorption spectra is same.
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wraRfafae va FaRIF-T 7 FI7 AT 82
D) 357 3101 & wigerer A7 3UREUA QYT B
2) 3573 3707  ATTATRNH 31T 3UREUS BT |
3) 3573 370 # Ut RaT 3ufedd g &)
4) SeTeRT TeRIYRI TeFeT AT BT &

Ques # :21

Make the correct match of enzymes(I) and their substrate(II) which are given below- I IT A. RUBISCO 1.
Dihydroxy acetone phosphate B. Triose Phosphate isomerase 2. Xylulose-5-phosphate C. Transketolase 3.
Ribulose-5-phosphate D. Ribulose phosphate Isomerase 4. Fructose-6-phosphate and 3-phosphoglyceroldehyde

1) A-i, B-ii, C-iv, D-iii
2) A-iv, B-iii, C-i, D-ii
3) A-ii, B-iv, C-iii, D-i
4) A-iii, B-i, C-iv, D-ii

A faw 31T vASTIH (1) v 3% FBRATaR(I) 1 J8! e fIfed- I I A. $feaSI(RUBISCO) 1. 318
grssifad THISIT BIEhe B. TE3MIS] BIEhe AFAIAS 2. AT S-5-BIEwe C. Tafheie 3.
USTAIA-5-PHIEbE D. AT BIEHE A 4. BFCIA-6-BIEbe T 3-BRBITARI388S

1) A-i, B-ii, C-iv, D-iii

2) A-iv, B-iii, C-i, D-ii

3) A-ii, B-iv, C-iii, D-i

4) A-iii, B-i, C-iv, D-ii

Ques # :22

The synthesis of chlorophyll starts with the condensation of two molecules, these are-
1) Protochlorophyll and Mg Protoporphyrin

2) Glycine and Succinyl Co enzyme-A

3) Protoporphyrin and Protoporphyrinogen

4) Aspartic acid and Glycine

FARI el FYATUT ST TR &Y T3 & HaAe (3R A e § I }-
D) greteraRifther vd ATARITA- SR eI

2) T3 AT Ud ATFTATS ST PITASAIH-T

3) PrEORERINE Td FeTdRBrRINE ST

4) wEqIfée 31Fel U TSl

Ques # :23

Some features of dark reaction of photosynthesis are given below- A. Chloroplast of leaf shows dimorphism.
B. Oxygen has inhibitory effect on Photosynthesis C. 18 ATP are required for synthesis of one molecule of
glucose D. First stable compound is Oxaloacetic acid. Select the features which are found in C-4 plants.

1) Aand B
2) Aand D
3) Band C
4) Band D

YT TRAYUT & THITRIT HAFHAT F Fo ewaror i fow arw 2- A. gRaeras gfaedt avaan wetia
FIAT 8| B. JHTFHISTET HT YHT HAYT G T WHGH THTT YSAT ¢ C. U 0T To[hial & [AHATOT 3 18
Ty & 3roy3it R e @elt 3] D. siereeRAfS 3 g RUR A e §) C-4 wreat
ATT ST AT AT FY g

) AgB
2)
7143
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AdD
3) BacC
4 BaD
Ques # :24

The isotopes of carbon used extensively for studies in photosynthesis is-

) C12
2) C13
3) C14
4) C16

YT WRAYOT & FaEea 3reaaer & forw forw #F1eet amgwey &t waler frar siran 8, 98 8 -
1) C12
2) C13
3) C 14
4) C16

Ques # :25

Carbon refixation in C4 plants occurs in chloroplast of
1) Palisade tissue

2) Spongy tissue

3) Bundle sheath cells

4) Guard cells

C-4 T # shrder o1 qo7: FRwrenoT BT )
D) go1 e &

2) Tqioh Fe H

3) qa Jrene ST

4) TeTer TR &

Ques # :26

Process of photophoshphorylation was first given by-
1) Hill

2) Willstotter and Stoll

3) Arnon

4) Park and Biggins

g BIEbEIEToT Y idHar wavyH fFaes gan & -
D) frer & g@n

2) fyereeier Ug Teld & gaR]

3) 3RAT & AR

4) 91k wd e & ganrT

Ques # :27

Splitting of dinitrogen molecule into free nitrogen atom in
biological N» fixation is carried out by-

1) Hydrogenase

2) Nitrogenase

3) Dinitrogenase
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4) Nitrate reductase

A arsgiere RUdaIor 7 STEgeIstar UIATY] T e HaFd Agersrsl WA & frus garr
graTe?

D gregifSirer

2) ATt

3) Srgersifeerer

o AN

4) Argee NEwe

Ques # :28

Leghaemoglobin creates-

1) Anaerobic condition for optimum activity of nitrogenase

2) Aerobic condition for optimum activity of nitrogenase

3) Maintains oxygen concentration for optimum activity of nitrogenase
4) Makes suitable environment for nodule formation

AT IcueT AT §-

D) srsaifortet i 3retepera fmam & forw srarerdr aRfeerdh

2) s et Y JrsTeperas foRar 3 fore arerdr aRfeydh

3) ASTIAT Y 3feTehera foraT & fow 3iferefisTet it AT Y TATT T
4) 3refy TRAToT & T 3R TgiaRor ST TEe A

Ques # :29

Total number of proteinogenic amino acids in the living world is-

1) 20
2) 21
3) 22
4y 23

shfad ST A Nt s W a1= arel) AT 35 8-

1) 20
2) 21
3) 22
4) 23
Ques # :30

Oxidative deamination is the conversion of an amino-
1) Group from and amino acid to a keto acid

2) Acid to a carboxylic acid plus ammonia

3) Acid to a keto acid plus ammonia

4) Group from an amino acid to a carboxylic acid

sitereiere Rrareiehieor & FiaTor giar d-

D) we 31t 3t & 3refiY 3 ot et 3t A

2) 31#AT 315l ST FHIETTFA oIS 31Fel Ud AT 3]
3) 31T 3T T e 3T T AT H]

4) 3731t 3ot & 31T I T AT 3 ]

Ques # :31
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Which of the following is not an essential amino acid?
1) Proline

2) Histidine

3) Leucine

4) Methionine

fArafaf@a & @ wlaar smaegs 3 A s Agi 82
D) greier

2) REET

3);;,@;[

4) TR

Ques # :32

Which type of bonding is responsible for secondary structure of protein?
1) Disulphide bridges between cystein residues

2) Hydrogen bonding between C=O and N-H groups of peptide bond

3) Peptide bonds between amino acids

4) Salt bridges between amino acids

N AT gfaciias G+ & forw 3cateri a4 8-

D) Reaére 319t & A STSHeHISS T 3]

2) geerss §7U & C=0 Td N-H 9 & HEY glSglolel dot|
3) ufda 3rat & HET UteTss S

4) 3rfielY 3T & FE 90T A

Ques # :33

Plants can absorb directly one of the following for nitrogen-
1) Ammonical nitrogen

2) Atmospheric nitrogen

3) Nitrous oxide

4) Nitric acid

frafaf@d & ¥ A & AT grey @Y 3raevor #:1 g6 -
D) srAforenet strgeioter

2) AgHS TSIt

3) Arsew 3iferarss

) Frsfee 3

Ques # :34

In protein synthesis of eukaryotic organisms the initiation of polypeptide begins with an amino acid and the
polypeptide synthesis terminates with some specific codons of genetic code. These are-

1) Methionine and AUG, UAA and UGG
2) Methionine and UAA, UAG and UGA
3) Methionine and UUA, AAU and GAU
4) Methylalanine and UAG, UGA and UAA

T Sfiat F N WRATT F FHAY UTelIITeISS HT TR TH AT 3ol TF I Ha A+ Fe
FroRvTaEidameaE e -
1) fAfa3feres vd AUG, UAA Td UGG
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2) TR Ud UAA, UAG Td UGA
3) fATI3NETSST U UUA, AAU T4 GAU
4) RIS Ud UAG, UGA Td UAA

Ques # :35

One of the following is intracellular receptors for signal transduction-
1) Cytokinine and cyclic AMP

2) G proteinsand Ca™

3) Vitamins and Retinoids

4) Porins and Labda receptors

e T & & vF TFd IREHA F1 3ed: FRATFT TE & a8 &-
1) grscisrai@e va afea vradi(AMP)

2) GHidle wa Ca™

3) fyerfdeg vd WEarasy

4) ity g orear A

Ques # :36

G-proteins are present

1) In cytoplasm

2) In nuclear membrane

3) On inner surface of plasma membrane
4) On outer surface of plasma membrane

G-I 3ufeua g &-

1) ferenr g #F

2) Shegeh holl &

3) CoTeAT Breel & 3dRe ¥dg |
1) CATAT Breel & e ¥dg W

Ques # :37

The contact of interferon with its receptor on cell surface activates -
1) DNA replication

2) Translation factor

3) Second messenger

4) Transcription factor

SEXHIIT & PIRAFT Y TAE W TS & 3T F THAT &) o1 § 78 &-
D g were. frafasfa

) 3feget PR

3) gfafaw aes

Y grepere

Ques # :38

The scientist who received Nobel Prize for the discovery of G-Proteins-
1) Alfred Gilman and Martin Rodbel

2) Bruce A.Bentler and Jullers A. Hoffman

3) Barbara McClintock
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4) Richard J. Roberts and Phillip A. Sharp

G- F Tier F T el [EFR TIed FT= e e § -
1) 3retps Rrerdlst ud AfesT Vsael

2) ST U.§CoR Td Sl U. gIh A=

3) SRERT A iFoicte

1) g 3. Qedy va hfag v e

Ques # :39

Ribulose-bis-phosphate carboxylase is a dual activity enzyme because it acts both as-
1) Carboxylase and Kinase

2) Carboxylase and Dehydrogenase

3) Carboxylase and Oxygenase

4) Carboxylase and Phosphatase

D) wreffraerst vd Hgaer

2) Freffereorer Ud fEgrsgatter
3) shreifareroret va Jiieresieret
1) sraffaeersT Td BrEhe ST

Ques # :40

Krebs Cylcle is also known as-

1) C4cycle

2) TCA cycle

3) Citric Acid cycle

4) Both TCA cycle and Citric Acid cycle

el TH P I H Fgd & -
D) cy=rsh

& drw aw
3) fafesw vfs o
4) &r.# .. % vd e vils O aer

Ques # 41

The respiratory quotient of any sustrate depends upon-
1) 05 used

2) CO, released
3) O usedand Cos released
4) None of these

Tt $ft Sra¥aR #1 eqwe IUTE $0 W AR Far &-
1) 3ggET & @ra=r O,

2) Had glet arell CO;

3) 3uzer & o I O, HFA 5% CO;

Y g ar @ s

Ques # :42
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The efficiency of respiration in terms of energy produced by one glucose molecule is approximately -

1) 76%
2)  60%
3)  40%
4)  56%

U TS & U] GART ScqTTeed 3T & 3% 7 QqHeT Y &THAT AT BYell
1) 76%
2) 60%
3) 40%
4) 56%

Ques # :43

Oxygen induced inhibition of carbohydrate breakdown is known as-
1) Pasteur effect

2) Photo inhibition

3) Photorespiration

4) Aerobic respiration

FrrdIsrer YR FEGIEIT $HoTeT AT Te&ot F WG HY Fgdl o-
D) qrez gammar

2) geprefracHeT

3) geprefieaast

4) aradrg g gt

Ques # :44

According to Chemiostic theory of ATP synthesis proposed by Peter Mitchell, how many ATPs are formed per
pair of protons traversing across the membrane during oxidative phosphorylation?

1) Two
2)  One
3) Three
4)  Four

ey e ganT yEarfard v.d.d. geayor f Tarfas el Sl F sear ey
PIEHEIHIOT F SRIT NET F TedF oA & e ¥ IR gl W fFaar wdh.dh. o 82
D &

2) Th
3 &=
) =R
Ques # :45

Under limiting conditions of Oxygen the NADH and pyruvate begin to accumulate. What will happen under
these condition?

1) Pyruvate will concert back to glucose

2) Ethanol will be formed

3) Lactic acid will be formed

4) Both Ethanol and Lactic acid will be formed

itereitoret it darrr Rufaal & NADH @uT qraede 531 glar & 8 oIt o7 ¥l Ryt &
ghem?
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D) ars%de qet: Tertet # aae seam

2) wdeAter ol Ao gre

3) QAfdFeeh 31T T fAATOT g

4) wAsTer vd AfFes el QA &1 TATOT g

Ques # :46

Photosynthetically Active Radiations (PAR) fall in the range of
1) 400-700 nm
2) 254-700 nm
3) 260- 560 nm
4) 600-700 nm

gh1er WeAwuiir @ik RAfFIr (PAR) fFu 317 a1 REaR F 3ma &2
1) 400-700 nm
2) 254-700 nm
3) 260- 560 nm
4) 600-700 nm

Ques # :47

Which of the following is not a plant growth regulator?
1) Morphactin

2) Putrescine

3) Strigolactones

4) Rishitin

fovet & & e wrew iy e it 82
D srhfeest

Ques # :48

Which of the following is not a naturally occuring Cytokinins ?
1) Benzyladenine

2) Zeatine

3) Dihydrozeatin

4) Isopentanyl adenine

foreer 3 & Flerar wrpfas w9 7 91T ST arer arEeEs e w8 82
D) sfestervsaet

2) foranfest

3) srgrEaiforaniesT

1) rearerfae e

Ques # :49

The precursor of auxin biosynthesis is-
1) Phenylalanine

2) Glycine

3) Tryptophan
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4) Methionin

SiFererer Stererecaor 7 g S -
D) fperser vefaet

2) semstaeT

3) freeter

1) AR

Ques # :50

Which of the following auxins is synthetic?
1) 1AA
2) 1BA
3) NAA
4) PAA

e & @ Fiaar sifFaa meaRa §-
1) 1AA
2) 1BA
3) NAA
4) PAA

Ques # :51

What is the maximum photosynthtic efficiency of crop plants when measured after absorption of
photosynthetically active radiations?

1) 18%
2)  33%
3) 9%

4 11%

FHAT ITEaT # Th1er HRavoiT Afha Raort & raeivor & qRard A9« W daifts gardr 41
g 82

1) 18%
2) 33%
3) 9%
4y 11%

Ques # :52

The maximum CO- fixation and net pimary productivity
Is observed in-

1) Plants of tropical rain forest

2)  Temperate grass land

3) Sea plants

4)  Desert plants

Haiftre F1eer sTg3itaaTss Rudaor vd Fa qrafis scarearar see 3& ST &-
D) ssurfedeiiar auias & ey

2) efrdrsor TS

3) gagdy are

4) FEEe are

Ques # :53
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Which of the following is not a micrinutrient?
1) Molybdenum

2) Copper

3) Zinc

4) Magnesium

forest & @ Flerar gaw drveF ¢ 2
D) #Atforss=s

2) it

3) i

) AR

Ques # :54

A dicot plant was subjected to water stress in a laboratory experiment. The chemical analysis revealed
degradation of carotenoids present in plastids and the degradation products prevented plant from water
stress. What was that product?

1) Mavalonic acid
2) Violaxanthin
3) Proline

4) Abscisic acid

T TARTRATAT & TART 7 U & et Tl 91ey Y ster wfcraer 7 1@ a7 qTafas f{eayor
aaP! & 3Ty FAfATEsH F 3TUTes HT I4T TAT TYT HTUS 3cUTG A UIGT A STel Ifaaer &1
foRer T 98 3cuTg FAT 9T?

D) Aaenfaes 3

2) ariea ey

4) geasiae 3

Ques # :55

The most active compound which caused seed dormancy in woody plants was named 'Dormin' who gave this
name?

1) ET. Adicott

2) P.F. Wareing

3) R.F.M. Van Steveninck
4) F.W. Went

TS drerat 7 et FYoeraT der e arel rfafsmarmel a1 A SfFT 27w | 7€ A=
e i

D) e & vdpie

2) dy v afer

3) 3R vt v AT Tt

4) Tt 390, dve

Ques # :56

The precursor of ethylene biosynthesis in plants is-
1) Aminoethoxyvinylglycine

2) Amino Oxyacetic acid

3) 1-Amino-cyclopropane-1-carboxylic acid
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4) Hydrogen cyanide

e & geTgelter & Staweayor H1 g 3-
D) efaazaiaiaerse somsfae

2) uffe ndefafes sed

3) | -ufAe-ATsFeliIdt- | -hrsffFaroes e
4) gT3ISTeT ARIATSS

Ques # :57

In an experiment the excised cotyledons of Raphanus sativus were treated with a chemical solution 'X'. When
incubated either in dark or light the size of cotyledons doubled as compared to control where no chemical 'X'
was added. What could be this chemical 'X'?

1) IAA
2) GA3
3) IBA
4) Kinetin

TS AT H IaH WEETH F Fod dor Tal T @RI X' F 3T B | Ja g 38 srygan
TRl A ISATIAT FT 1T Y SeTahT AR Fgter Y Torall A, THWH AT "X AEH STell 74T AT J,
AT &Y 11| I§ THIAT X FAT 81 WhelT 82

Daguw

2)Sws

3 T

) Frgafes

Ques # :58

The production of hydrolytic enzymes and alpha- amylase by aleurone layer to digest starch present in
endosperm of barley seeds is dependent upon-

1) Gibberellin produced by scutellum

2) Auxin produced by scutellum

3) Both gibberellin and auxin produced by scuttellum
4) Indole compounds produced by scutellum

it & ISt & 3ufPya #z & Furaa & faT vege ravat gant scufed gsgifafes waamaew va
BT TATS A e ) fsit &2

D) Fpeest gant senfea SeafasT

2) e gant 3eaifed atfaraa

3) TR e g@rT 3edTied freafaet v 3tfaraea art

4) Tepe eI ganT 3edTfed gesTe A

Ques # :59

Why seeds in a ripe tomato do not germinate even though the temperature , moisture and oxygen conditions
are favourable?

1) Due to presence of acids

2) Due to negative osmotic potential of juice
3) Due to presence of lycopene

4) All of these

m,muﬁﬁwﬁmﬁqmﬁawwaﬁ%wwqﬁ?gmﬁmwm
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Tl 81l 82
D) 3reait &7 sufeufa & sror
2) T8 & FOTcHe TRIERT f3e7a & T
3) SrEendier T 3uTEUY & SR
1) s & Tl

Ques # :60

In a rice field a disease called "Bakane Disease' suddenly appeared and all the plants grew longer than
normal. Investigations revealed that the causal organism was Fusarium. What could be the reason for
abnormal elongation of rice plants?

1) Xylem vessels were clogged
2) Fungus produced gibberellins
3) Fungus produced fusaric acid
4) Fungus produced auxin

TS U & d & "dFa" ATHS Q97 A= fg@rs ar orwsd woft urg am#eg @ 318 o e 37
Y| IAYOT H 9TAT 37T FoF SHHT WTHRY S FARIH 1) &TeT & q1ealt Y HTHTATT SreiaT T F41
HROT g AFHAT §?

1) Sireera arfgery 3rasg g1 =iy

2) shaeh o feafoed T 3curee fha

3) Tk =Y FISIReR 31T T ScdTeeT foham

) shaep o 3NTFG=T T 3cures fomar

Ques # :61

One of the possible reasons of seed dormancy in plants can be due to-
1) Abscisic acid

2) Thiourea

3) Cyanide

4) Azide

qreat # ST THTAdT T TF HHTRAT FHIOT 81 HehvelT -
D) scarsf@es 3w

2) erargfan

3) Arsass

4) warss

Ques # :62

Which of the following physiological functions adversely affect the photosynthetic efficiency of plants?
1) Phosphorylation

2) Glycolysis

3) Photorespiration

4) All of these

e 3 & FITaT SRR TR TET F TR T a1rar W i g sTerer §2
D) wrethéranoT

2) TRt

3) GRTRIIT 3T

4) gomr & ash
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Ques # :63

Number of quantasomes capable of electron transport and photophosphorylation is-

1) Two
2) 3-8

3) 4-10
4y 12-15

goFeld SAAIE 3T Th1er PIEFEHIO F fAT fhda Faeeasg Y raegFar e 8?2

D) &
2) 3-8

3) 4-10
4) 12-15

Ques # :64

Select the correct pair-

1) Middle - lamella = cellulose

2) Primary cell wall = cellulose and hemicellulose
3) Secondary cell wall = Lignin and Cutin

4) Plasma membrane = Lipids only

e ZIA &1 94 FTS-

D) srear gefore = degaa

2) grafies FfRe e = degelier T gAdegest
3) gfacieres A e = e g Fafea

4) CATSAT el = haol fATISH

Ques # :65

In Haplopappus gracilis root hair cells diploid chromosomes number is -
1) 2n=8

2) 2n=4

3) 2n=16

4) 2n =32

gearuw AfAfaw i 7er W7 FifrEET 7 gReOraEn) o wEar @ @)
1) 2n=8
2) 2n=4
3) 2n=16
4) 2n=32

Ques # :66

Unidirectional export of which type of RNA takes place unidirectional through nuclear pores -
1) tRNAs

2) rRNAs

3) tRNAs, mRNAs

4) tRNA and processed mRNA

Feghr el gaRT FA THR & RNA F1 v 3t gar 8-
1) tRNAs

2) rRNAs

3) tRNAs, mRNAs

4) {RNA a7 GafId mRNA
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Ques # :67

In mitosis chrmosomes split at centromeres takes place in-
1) Prophase

2) Metaphase

3) Anaphase

4) Telophase

FAA FyerTater & FORGET FT AeHNIH W geat fFw ravar A grarg?
D orther &

2) Ferhet 7

3) YTt

4) Erciret 3

Ques # :68

Common wheat is a hexaploid (2n = 42) its base number is-
1) 21

2) 42

3) 7

4) 14

AT A TITO (2n=42) T ¢| FHAY ITURIT FEATE -

1) 21

2) 42
3) 7

4) 14
Ques # :69

pp - Chromosomes adversely affect -

1) Plant height

2) Plant weight

3) Tiller number

4) Plant height, weight and tiller number

B - aorga fawa &7 & vsfag a=a €2

D) arga Sars @

2) 9Ted IR Y

3) T HEdT

4) qreq FATS, e AR T JoT2EsT SE&AT

Ques # :70

Eukaryotic polymerases are of five types. They are identified from-
1) Yeast cells and rat liver

2) Human cell cultures

3) Tumour cells

4) Yeast cells, rat liver, human cell cultures and tumour cells.

THRIEH NS 91T AR & g1 & FoTehy Tgraner $r 2 -
D Aree ARt 3R g F aea d
2)
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HATAT HIfAwT GaeT &
3) TgFR PRAFHT
4)?ﬂwaﬁf®aﬂ3ﬁ,a3$q?d b, AT HIfAehT Hatiel T TIFAT HIfAPIT &

Ques # :71

Transposons are of how many types on the basis of their structures and mechanism of transposition ?
1) 4 and 2

2) 2 and 4

3)3and 4

4) one and 4

TIIAT TG TaTaR 0T FRarfafer & 3myr oX sRraiaed fahdeil IR & gid 82
D43k

2) 234

3) 334

4w 3w 4

Ques # :72

The movement of DNA among mitochondria, chloroplasts and nucleus takes place in yeast and sea urchin.
Such DNA is called-

1) Pseudogenes

2) Z-DNA

3) Promiscuous DNA
4) Split genes

A T WA AT F DNA, ATSHIEAT, FARITART T Fega 7 39w 7 I FIaT 8] TAT DNA

FHgeTal g-
D) mremrey Sher
2) Z-DNA

3) Tase N fAERHE) DNA
) faufea sha

Ques # :73

The word gene was proposed for the first time by -
1) Bateson

2) Johansen

3) Mendel

4) Lederberg

HAYYH S UAsg FT IEAT fhaa fomar a2
Dsdrgaa

2) SgeaeT

3) Hza s

1) T A

Ques # :74

During transcription, only one strand of DNA duplex is copied. This strand is called-
1) Sense strand
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2) Antisense strand
3) Complimentary strand
4) Template strand

HTAE & TAT DNA ST $1 T gt Y & bl (1) gielt | T ) Fgornel §-
D degordr

Ques # :75

Chromosomes constitution of Down's syndrome is-
1) 13,13,13
2) 18, 18, 18
3) 21,21, 21
4) 45,47, 48

s3+w FAZ i RRufa & Trore Heree gar §-
1) 13,13, 13
2) 18, 18, 18
3)21,21,21
4) 45,47, 48

Ques # :76

The polymerases found in eukaryotes are of which type?
D candp

2) vand &

3) dand e

4) o,pB,v,6ande

g3 R # T ST ek e T 3 8
D) 3rewr 3tk drer

2) a1 3R Soer

3) 3oer 3R sToTa

4) 37ewT, dieT, IMAT, SocT § ST

Ques # :77

Heterosis is being exploited comercially in-

1) crop plants

2) ornamental plants

3) fruit crops

4) In crop plants, ornamental plants and fruit crops

HHT 3T T IAN9T FIOoTs T F fFaa forar 31 w1 8-
D) waely areg &

2) goTaeY ureHt 7

3) Tl aTell el 3

1) gl Iy #, Farady ureal # 33T Foil arel vaer &
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Ques # :78

Cytoplasmic male sterility can be stopped by-
1) Restorer genes

2) Cyptoplasm

3) Nucleus

4) Mitochondrial genes

FIfAFIge AT TETAT FT GATCH FHAT ST GFT §-
1) g TAISH Siled d

2) HrseIcaTeH A

) FegH H

) ArggifEa & e &

Ques # :79

Male sterile plants will be sterile when cytoplasm is sterile and genotype will be -
1) RR

2) Rr

3)rr

4) RR, Rr or 1t

T I Qi €7 g1 ST HIADT e T &1 TAT ST I 8-
D RR g&R

2) Rr 9

3)rr§|7=FlT

4) RR, Rr 3720aT rr fordly 8ff TehX &1

Ques # :80

In transformation, transforming principle is DNA was proved by-
1) Avery, MacLeod and McCarty

2) Griffith

3) Hershey and Chase

4) Watson and Crick

TATATOT # FIIRUTHRRE 91 DNA 81aT § I8 fhas g fFam
D) vad), A=fasnes g d=rdt o

2) Pifra

Degdadera

1) greET g e o

Ques # :81

Double stranded RNA is found in-
1)R17

2) ¢ X174
3) MS2
4) Wound Tumor Virus

faTsSIHT RNA UTIT STl 8-
DRr17#
2) X174
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3) MS2 &
4) greq urg 3-|§(|°C\(W0und tumor) TR H

Ques # :82

Select the correct pair-
1) Z-form of DNA ----- 12 base pairs per turn

2) C-form of DNA --------- 10 base pairs per turn
3) B-form of DNA ------- 9.33 base pairs per turn
4) A-form of DNA --------- 12 base pairs per turn

e A FT Th -

1) DNA &7 Z-9%T - 12 &7 g7 et $ll(turn)
2) DNA & C-IFT —-ememev 10 &TR J7A gl 6

3) DNA ST B-JET <--cmonev 9.33 &R JIH GfeY har
4) DNA ST A-YFT <o IZW??TQﬁW
Ques # :83

Conjugation in bacteria was discovered in-
1) Lederberg and Tatum in 1946
2) Lederberg and Tatum in 1956
3) Lederberg and Tatum in 1960
4) Lederberg and Tatum in 1942

SHaTor3t & FYIHA Y BT -
D detedtaeeAaa 1946 8
2) JFN T AN 1956 F
3) st g EeH A 1960
4 derEdtaeA T 1942 H

Ques # :84

Select the correct statement related to transduction-
1) A bacterium carrying a prophage is called lytic.

2) An intergrated phage chromosome is called episome
3) The prophage carrying bacterium is called lysogenic.
4) Bacteriophages are not required for transduction.

URFHOT § FFa AT HEY YU Thaw-

D) Sirtat gt Sfraroy o (Iytic) Fgermer g

2) U5t T FATH oI IO UTTHIH FHEolTel o

3) Yot Jor SMATO] SIISTeTa (lysogenic) FEATCT B

4) IREHOT 3 ForT SHATUTHYST Y JTaeTehar TET gl &

Ques # :85

Bacteria like symbionts of Paramecium are

1) Alpha and gamma particles only

2) Alpha, gamma and lambda particles

3) Alpha, gamma, lambda and sigma particles

4) Alpha, gamma, lambda, sigma and omega particles
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RIEATRITA # Sharey 3R 3ea: Fgeid §-
1) et 3rer 31T a1eAT SHot

2) hereT 3T, ITAT 3] SIFasT T

3) el 3T, IMTAT, oFasT 3R fATAT o
4) 31T, AT, SFasT, f{eaAT 3R 3T wor

Ques # :86

"Killer" strains of Ustilago maydis contain-
1) Single stranded RNA in their cyptoplasm
2) Double stranded RNA in their cytoplasm
3) Double stranded DNA in their cytoplasm
4) Single stranded DNA in their cytoplasm

e AAFH At "Killer" F&eT # ITAT AT 8-

1) e 78 I7 T AT RNA; 3578 TTgeicarsH &
2) Ef3er AT Too] aTell RNA; 3e7eh ATSEICelTsH &
3) gfaers) AT Too] aTell DNA; 3o75 HTSCICelloH 3
4) Tk oTET AT Too] ATell DNA; 3eTh TTSITelsH &

Ques # :87

Select the correct statement for mtDNA-

1) mtDNA codes for 2-3 types of rRNA.

2) mtDNA codes for 13-26 types of proteins molecules

3) mtDNA codes for 2-3 types of rRNA and 13-26 types of proteins
4) mtDNA codes for rRNA and mRNA

ATSAIHITZTST DNA 37UaT mtDNA & fAT TcT YT FT 99 -

1) mtDNA 2-3 9&hR & rRNA & ToIT 1S e g

2) mtDNA 13-26 9K & N & forw #1g aar |

3) mtDNA 2-3 F&hI & rRNA TT 13-26 TR & NEH & [oT IS i g
4) mtDNA, rRNA & mRNA & foIT &hig T g

Ques # :88

Chloroplasts contain-

1) tRNA only

2) Ribosomes only

3) tRNA and ribosomes both only

4) tRNA, ribosomes and ring-shaped DNA

FaRIcaRe i 3ufRua i ¥-

1) &aer t(RNA

2) ool TsTATT

3) ShaoT tRNA T USarE=g et &r
4) {(RNA, TSSIEIFH T TR DNA

Ques # :89
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Plasmagenes are located in-
1) Nucleus
2) Nucleolus
3) Cytoplasm
4) Mitochondria and Plastids

CATSHT Siled 91T SATd &-

OF ot

2) hfege 7

3) ArgciTdreH 7

4) ArserFifzar 7 venfeesy

Ques # :90

Cp-DNA of Chlamydomonas has genes for-

1) Streptomycin resistance

2) Erythromycin resistance

3) Both Streptomycin resistance and Erythromycin resistance
4) Penicillin resistance

FAATSEAATH & FARITATEE DNA(cp-DNA) # frad et sufeua aia &
) EreerTe R SRR

) e e TR

3) AR wfakiuedr a tRARTRAT Sfaitewdr et &

) ofafafas sfatusar &

Ques # 91

Transductants having integrated phage chromosomes are called-
1) Primary transductants

2) Exogenate

3) Endogenate

4) Secondary transductants

D) grarfaes cieseeeea
2) weeiae
3) Teeieiieie

4) E\"\%T-h'{la? EA‘IQ:ga%rE\Fl

Ques # :92

For mtDNA and cpDNA the recently proprosed model for replication is-
1) RDR (Recombination-dependent replication)

2) Replication fork model

3) Rolling circle mechanism

4) D-loops mechanism

mtRNA 3R cpDNA & ufagasr & fow grer €1 & weanfaa Ats &-
1) RDR (geriferer e wfcasprae)

2) W fork HATsel

3) Qfeiar gfdher framfafer
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4) D-ora rafafer

Ques # :93

Chemical mutagens are classified into two types. Alkylating agents can induce mutations in-
1) Replicating DNA

2) Non Replicating DNA

3) Replicating and non-replicating DNA

4) In RNA

mmﬁ(mutagens)ﬁﬁmﬁmﬁﬁmWﬁ Tfedhdd RS Scaiace 40T
T 8-

D) gfasfar DNA #

2) 3gfasfa DNA &

3)qﬁ§%amﬁ§%DNAzﬁr

4) RNA 3

Ques # :94

Chiasmata(X) are formed in which stage of meiosis I of Prophase 1?
1) Pachytene
2) Diplotene
3) Leptotene
4) Diakinesis

ITERGENTAHTST 1 (T23) Y Aiar-1 T FITHY 3T-30FAT A FTIFHAN(X) To70 82
D 9hrér=

2) feearéleT

3) et

Y ST

Ques # :95

Who discovered gene interaction by studying inheritance of shape of comb of cock?
1) G.J.Mendel

2) Bateson

3) Punnet

4) Bateson and Punnet

FeFbe (AT Y FHeralt FY ITHTA Y FATRTTA HY AT F TR W ST HANeIHIT AT @IsT o
$r?

D Shaavsaa

2) qrET o

3)?)@3?

YT T T A

Ques # :96

Wobble hypothesis for base pairing in codon and anticodon of RNA was given by-
1) H.G. Khorana
2) R.T. Okazaki
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3) FH.C. Crick
4) T.H. Morgan

FISNT T tRNA F TfAHIEIT 7 &TRF JadeT A1 " saree IRFogan " fraa ar 42
D washarera

2) FREY. 3epromenr o

3 thwad e

D& v AT

Ques # :97

How many functional sites are present on ribosomes?
1) 1-2
2) 2-4
3) 3-6
4) 4-8

TEAEFT 9T fhde fFdTer® ¥oa 3ufeaa ala &2

p—

W N
B W =
o N A~

N

)
)
)
)

Ques # :98

For the synthesis of three kinds of RNA, how many enzymes are needed in prokaryotes?
1) one

2) Two

3) Three

4) Four

WNHRIAEH H it TR & RNA F TN & fhasl TR & TAATTH 9T gid 82
D) s
2)
3) =
) o

Ques # :99

In a dihybrid cross 4 types of phenotypes are obtained in F2 generation. How many types of genotypes will be
in the pea plants of Tall and Red phenotypes?

) 3
2) 5
3) 4
4 2

U EIAHHT I $T F2 Hafd # IR THR & AT Y9 91od gl ] 318 7T & ot o o 3 e
aTel oT&ToT Y H el 9 & Sfier 9T gier

) 3
2) 5
3) 4
4 2

Ques # :100
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Match List I(Gene interaction) and List II(Phenotypic ratio of F2 generation) and find the correct answer with
the help of codes given below List I(Gene Interaction) List II(Phenotypic ratio) A. Complementary genes a.
13:3 B. Supplementart genes b. 9:6:1 C. Polymeric gene action c. 9:7 D. Inhibitory gene action d. 9:3:4

1)A-¢c,B-d,C-a,D-b
2)A-¢,B-d,C-b,D-a
3)A-a,B-b,C-¢c,D-d
4)A-d,B-¢c,C-a,D-Db

g 1SNt 3rearr ) it g 1 (r2 e &1 aaror arei sregare) #Y gafad fifod qur e R
T FHE Y FETIAT & WL Scad FT 9T PfrA- Y 1T 373 fram) Fr 11(eraror wrefy 3regare)
A. 93 S 3R a. 13:3 B. §qT SN AT b. 9:6:1 C. agersh ST f3ha c. 9:7 D. Tl sfier o d.

9:3:4
I)A-¢,B-d,C-a,D-b
2)A-¢,B-d,C-b,D-a
3)A-a,B-b,C-¢c,D-d
4)YA-d,B-c,C-a,D-b
Ques # :101

Translation is regulated by-

1) Ribosome

2) tRNA & mRNA

3) Aminoacyl transferases and aminoacyl synthetases
4) all of these

2) {RNA 3R mRNA aRT
3) HAATRI grawiele 3 FfAATRS Redieas &
1) g g @sf

Ques # :102

Select the correct statement for protein synthesis-

1) Transalation is not simultaneous with transcription in eukaryotes.
2) Ribosomes in eukaryotes are attached to ER.

3) Ribosomes dissociate into 30S and 50S sub units in eukaryotes.

4) Both Transalation is not simultaneous with transcription in eukaryotes and Ribosomes in eukaryotes are
attached to ER.

ST Feaur & fare el derer -

D) 31e1orEet 3 3reiet ghRAeH 7 Arer-are 78 g1 g

2) garfaies # UsaaFg ER O ol gl 3]

3) TsarEIFE IHREACH 3 305 T 50 s USHSAT 3 37eTeT gIel ¢

4) 31T T JeTeT JHRATCH 3 VIA-ATY 7 @1 § T IHRACH # TEardrg ER TR w9l gt §
arel

Ques # :103

An operon is a group of structural genes whose transcription is regulated by-
1) A promoter gene

2) A Regulator gene

3) An operator gene

4) Coordinated action of promoter gene, regulator gene and operator genes
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TRV U ITATCHS T THE & ToraehT Tfarsheret ora e gl &-
Dy s &

2) RTHS AT

3) t HET AT A

4) gaTex SieT, forarereh SfeT Td Tk 3iTaReR SfieT r AR fhar &

Ques # :104

The most common encapsulation gel matrix for development of artificial seed is-
1) Agar-gel

2) Agarose gel

3) Sodium alginate

4) Gelrite

Fiw fie R F v gdummor ayee S AfeF ¢-
D 3w S

2) WIRIST S

3) FfeaH Teslaie

4) rersT

Ques # :105

The likely cause of somaclonal variation during callus growth is-
1) Loss of cell-to-cell contact

2) Chromosomal aberrations

3) Change in ploidy level

4) All of these

Forw 3Ry F et FrrFe AT aRads #1 @i Hror -
D) iRt & It & gFad & Har

2) o fauee

3) FAIOTAT  FeR 7 TRl

) g A

Ques # :106

The first androgenic haploid plant in vitro was obtained by-
1) P.Maheshwari & S.C. Maheshwari

2) S.G Mukherjee & S.C. Maheshwari

3) S.G. Mukherjee & R.C. Maheshwari

4) S.G. Mukherjee & P. Maheshwari

UgT Geolol 1 30T U1 UTed fohdet yred fham?
D) o Argeady qar va @ Argeady

2) wa S st aur va Al

3) v i At T AR A A

%) va it et aur . Aead

Ques # :107
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Which of the following methods is not suitable to obtain somatic hybrids?
1) Electrofusion
2) PEG mediated fusion

3) NaNO; mediated fusion
4) PVP mediated fusion

foar & @ el fafer w1l W wroa w1 & fw sugea 7@ 32
D faezga darerst

2) Y .5, AeTEy Harele
3) NaNO3 HETT2l Haleldl

4) oy &Y. fY. FETEYT TITeleT

Ques # :108

E.C. Cocking in 1960 isolated plant protoplasts using cellulase obatined from a fungus. What is the name of
that fungus?

1) Helvella Crispa

2) Geastrum triplex

3) Polyporus Squamosus
4) Myrothecium Verrucaria

§.EFIRFT A 1960 # TF Faw F UTed oA HT 3G F I1GT Nercaree H Fafra fmm za
Had FT ATH FAT§?

D) gerder forear

2) ShuegH feeawa

3) gfeiRy TFAET

1) ARRRTETH dsHRar

Ques # :109

Which of the following pathways of micropropagation is most reliable to obtain true-to-type plants?
1) Somatic embryogenesis

2) Enhanced axillary branching

3) Callus organogenesis

4) De Novo Shoot bud differentiation

fove=T F @ qEo ats T FITHT 97 TI-2-TET IIgHl FY Ued F F forw warfw Reawd
D) e sqorsteter

2) UrgiHs UFHIerY QT

3) org 3reTTaerE

4) 2y e RIE ey 1 adesT

Ques # :110

The proof that plant cell being totipotent can develop into a complete plant was provided by-
1) Reinert

2) Bajaj

3) Steward

4) Both Steward & Reinert

UTE FHIRAFT HERTH glot & FROT IOT 91gy 7 A 8 wael 8, &1 w#T0r fFeay i
Dgaea
2) gelraT o
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3) Farg A
4) €&Yars vd UATE St o

Ques # :111

The best plant growth regulator which can induce rooting in vitro raised shoots is-
1) IBA

2)2,4-D

3) NAA

4)2,4,5-T

YT 3ot SRIGT F Helel 90T T Fehe ATelT ASS UIGY R ford=er -
Damgdie

2) 2,48

S oAy

24,58

Ques # :112

Which of the following is not a gelling agent suitable for plant tissue culture?
1) Phytagel

2) Gelrite

3) Agarose

4) Agar

U e Wate & fow et 7 & wiaar stfea vl sagFa a8 8>
D) wrgerster

2) SrerTee

3 ik

4) srame

Ques # :113

What is an ideal pressure for sterilization during autoclaving of plant tissue culture medium?
1) 15 psi

2) 20 psi

3) 121 psi

4) 25 psi

9eY Fdsh Hatied ATETH & 3iTeiFa AT A fAsreiaor & R 3meel g« Far g2
1) 15 psi
2) 20 psi
3) 121 psi
4) 25 psi

Ques # :114

Which of the following is not suitable for surface sterilization of an explant?
1) Sodium hypochlorite

2) Mercuric chloride

3) Ethyl alcohol

4) Methyl alcohol
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UF Fdled® & T fastaiaor & faw st & § o1 g 7dt 82
D) aifzas grediearise

2) IFINE FeRISS

3) SuTSer ToamTEIeT

%) rerSer veaTETer

Ques # :115

Identify the correct series for the growth curve obtained for plant cells grown in suspension culture-
1) Lag phase, stationary phase, Exponential phase
2) Stationary phase, Lag phase, Exponential phase
3) Lag phase, Exponential phase, Stationary phase
4) Exponential phase, Stationary phase, Lag phase

foreraer geatt F waftha gigw =1t & fow wrea §iy as #7198 wa gganfae-
D) geTar yrawa, Feer yraea, TRErdiR JTaeaT
2) TEUR YTGEAT, URTIAT YIGEAT, TRETATShT TTaeT
3) geTaT YTaEdT, TRETAIRT TTaET, e Jraedr
4) TRETdihT yTaedT, R e, ueadr yawr

Ques # :116

Agrobacterium tumefaciens is a-

1) Gram positive, Saprophytic soil bacterium
2) Gram positive, pathogenic bacterium

3) Gram Negative, Saprophytic soil bacterium
4) Gram Negative, Pathogenic soil bacterium

v REH TgAdRITw ¥-

D) g Y, st e Sharey
2) 9T TTEY, TR o]

3) I Y, FFSNAY FeT STy
4) 9T 373N, QTR e Sharoy

Ques # :117

Yeast Artificial Chromosome(YAC) can carry upto which size of cloned DNA?
1) 20Kb

2) 1000 Kb

3) 25Kb

4) 200 Kb

A FRA TOHA(YAC) 5w TS aF F FaAlfAd I.0A.T FT T8 T TFA 62
1) 20 Kb

2) 1000 Kb

3) 25 Kb

4) 200 Kb

Ques # :118

Cosmids are the cloning vectors which can carry cloned DNA of the size-
1) 10 KB
2)20 Kb
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3) 40 Kb
4) 100 Kb

FITHAS I8 Hl AT dEF ¢ ) 3H IS F S).UA,T & Tg1 T b 8-
1) 10 KB
2) 20 Kb
3) 40 Kb
4) 100 Kb

Ques # :119

The microarray technique is best suited for study of-
1) Gene expression

2) Genome structure

3) Genome sequencing

4) Gene amplification

HISHIN dhelleh A & AT & fov aiftrs sugFa 2
D sher sifereaf@a

2) ST T

3) SN FeHHACTT

4) ST el

Ques # :120

In a multi-nation sequencing programme the India Initiative for rice genome sequencing involved which
chromosomes of Japonica rice?

1y 7
2) 6
3) 11
4 12

aﬁaaﬁmwa?mag?ehwmﬁmaﬁmﬁmﬁwmﬂ

HITHT IO nfAe 4
) 7

2) 6

3) 11

4) 12

Ques # :121

The scientist who is known for developing carotene-rich '""Golden Rice'" using genetic engineering is-
1) Ingo Potrykus

2) Barbara Mclinctok

3) Jeff Schell

4) Steven Lindow

Gﬁﬂ'mﬁmmﬂi_ﬁ"?ﬂmm" ¥ fa T & AT, S T AT #-
D g difera

2) SRR AFolieheian

3) 3w e

4) T&rae Tz

Ques # :122
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The gentically modified tomato 'Flavr Savr' with delayed ripening was the result of-
1) Over-expression of the gene for polygalacturonidase

2) Gene silencing by antisense RNA

3) Over expression of gene for ethylene biosynthesis

4) Over-expression of gene for ACC synthase

faeifae yeFaet & A1y Argafsd: gRafdd ATt ‘Flavr Savr' fraet afoms &2
D) dfelRorergifasst & fore ofiet &1 3iaR waravereT Jrerar sifasiffeatad

2) UERIE 3R UA.T. EaRT SHiel ARdetel

3) STl SId TREVUT 3 STl T AT TFAIRIST 3r2raT AfaiHeaFa

4) i Rawast & SfieT T 3iaR TFEvRIe rar Afasifeeatea

Ques # :123

A general purpose plasmid cloning vector pBR 322 contains-
1) 4361 bp
2)4163 bp
3)4631 bp
4) 4136 bp

T AT 3227 T CAToAS Falld T aigsh pBR 322 & edfase §-
1) 4361 bp
2) 4163 bp
3) 4631 bp
4) 4136 bp

Ques # :124

Which of the following was the most important discovery for success of an automated polymerase chain
reaction?

1) Temenism

2) DNA denaturation

3) DNA sequencing

4) Thermostable DNA polymerase

Taaford qifoaAer A Ruaerer 1 ¥hadr & fow fae 7 @ sl a1 snfaser srfasgeaqet ar
D eafass

2) 811, faaefaroT

3) .01, HHAUIT

4) e .Te.T Afele Rt

Ques # :125

If a linear DNA with 6 copies of GAATTC sequence is digested with EcoRI, how many fragments will it
produce?

H 5
2) 6
3 7
4) 8

I GAATTC A 1 T: 9 arel WAF 31.UA.T FT EcoRI F Iral a1 ST A Ig fohetal gohs

TATTI?
) 5
2) 6
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3 7
4) 8
Ques # :126

Which of the following restriction endonucleases will have higher frequency of cut on the DNA?
1) Eco RI

2) Bam HI

3) Sau 3AI

4) Notl

foeer & & Pl Weaerer vy fFarver 7 .ua.v. i F1ea i 3o 3rgfa el
1) EcoRI

2) Bam HI

3) Sau 3AI

4) Notl

Ques # :127

Which of the following blotting technique is based on the name of a scientist?
1) Southern blotting

2) Western blotting

3) Northern blotting

4) All of these

faFT & ¥ FlTHY dhaIF v dAAEw F AT 9 3menia g2
D) gest satfear

2) qFce selifear

3) FTeeT selftear

4) g7 & galr

Ques # :128

Which of the following restriction enzymes does not produce sticky ends?
1) Eco RI

2) Alul

3) Sau 3Al

4) Hind III

foret F @ Pl WeaereT woraraw g 3ryar ey AR 78t aama 32
1) Eco RI

2) Alul

3) Sau 3AI

4) Hind 111

Ques # :129

During agarose gel electrophoresis for separation of DNA a fluorescent dye ethidium bromide is added. On
illumination with UV light the DNA fluoresces brighter while no fluorescence is observed in gel. Why?

1) The dye becomes dilute with buffer

2) The binding of dye with DNA concentrates it.
3) The dye is degraded in gel

4) None of these

A.TA.T. F A9 & AT St sAFIHERTAT F et v wfafeeas o sRAZTw sass s sran
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2 Tt T @ WEITe A 0. T AT FiAdIee g1 & e ster 7 H1$ wfafeeasr 78t draar 8| #4012

D) 357e I & |1 e &Y AT §
2) &1 01T & ETY T U Toieh T8 & STl &
3) Jar 7 Tk T HUEC gl AT g

Y g1 A IS e

Ques # :130

When an impure DNA is electrophoresed on agrose gel and observed under UV-light a smear is observed on

the gel. What does it indicate?
1) DNA is mixed with RNA

2) DNA is mixed with Protein
3) DNA is sheared

4) All of these

IfE T NG S.TA.T FHT TR A W SAFSIORIAH FT Fll TH1er & A1 W ATT ¢ A 0 3Tae

feaTs <ar 8| 77 FT ST FRAT B2
D& uauReaes oy A g
2) & uA. T NEA & Y AT AT

3 SruavaElsagrmary

4) gy & Ty

Ques # :131

Arithmetic mean of first ten odd numbers will be-

1) 10
2) 15
3) 20
4) 5

YYH g fAYH TEATHT T THTEAT ATET g1
1) 10
2) 15
3) 20
4) 5

Ques # :132
Select the correct formula for the calculation of combined arithmetic mean-

1) -
_ — X7+ Ny+ %+ Now
Combinedmean x = =+ —1 -2 = 2
Ni+ N»

Combined mean X =

Combined mean X =

. — N ;
Combined mean ¥ = =

THAfGh AT X 6T 0= F oI Ter T &1 99 i

X1+ Ny +% + No.
Ni+ N»

1
: qHfes ART X =
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2) X; Ny +%, N
e 7 - X1 Ny + % Nopeoo
[Higdh AT X =
o “6 N1+N7
3) — Xy Ny +Nj; X
s AR X = —L1 22
A N;+ N,
4 — NyxXy+mW xX
) amfRs ARgx = L 2= =2
a Xi+X,
Ques # :133

If 5 =5 97 and X of a series is 51. The coefficient of
standard deviation will be

1) 5.0
2) 11.7
3) 0.117
4) 1.17

IR fdr Aofr &1 6 =5.97 dur X 51 % 7 5T
THTY [Tl 0TI BIaTT-

1) 5.0
2) 11.7
3) 0.117
4) 1.17
Ques # :134

If in a series value of X is 31 £fd? = 25400 and the £f = 100
The value of standard deviation will be

1) 15.00
2) 16.00
3) 254.00
4) 15.94

I & Aofr F X = 31, £fd? = 25400 FUT &f = 100 feamgam &

ar AT Tage_ greT-

1) 15.00
2) 16.00
3) 254.00
4) 15.94
Ques # :135

Probability of throwing an even number with a die will be
1) 1/6
2) 112
3) 173
4) 1/4

TS T & hah T I TH TEIT & YIS a1t HT TFATIAT 21ai-
1) 1/6
2) 12
3) 1/3
4) 1/4

Ques # :136

On the basis of number of variables how many types of correlations are recognised?
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1) 1
2) 2
3) 3
4 4

T(variable) ¥ 3TUR T fhdl YFR & TgHaET Y AT 14T &2

1) 1
2) 2
3) 3
4) 4
Ques # :137

The names of Francis Galton and Karl Pearson are associated with-
1) Probability

2) Correlation

3) Measures of Dispersion

4) Harmonic Mean

B TeeT AR el R F A9 fFad grafaa g2
1) grf¥erair(Probability)

2) ggawaeL

3) 3rafeor & AT

4) gafes A

Ques # :138

The word Regression was used for the first time by-
1) Sir Francis Galtom in 1877

2) Sir Francis Galton in 1787

3) Fredrick C. Mills in 1877

4) A.L. Bowley 1877

AIIaTHeT' 26 ST AATYH TII9T fhaT UT-
D) g3 wifeg ameea & 1877 &

2) g wiflg aeea ¥ 1787 &

3) thfger &Y. FeT oY 1877 &

D uud BT A 1877 H

Ques # :139

If Mode and Median of a series are 22 and 21.4 respectively, what will be the value of Arithmetic Mean?
1) 15.99
2) 34.30
3) 21.10
4) 19.33

mwﬂvﬁma@wmode)am—am(median) FHT: 22 3 21.4 § S HTTAR ATET g2
1) 15.99
2) 3430
3) 21.10
4) 19.33

Ques # :140
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Statistical averages are of how many types?
1 2

2) 3
3) 4
4) 5

HITETH T ATET fhdell TSR F a2
H 2
2) 3
3 4
4 5

Ques # :141

Karl Pearson coefficient of Correlation is calculated on the basis of measure of-
1) Arithmetic mean

2) Standard deviation

3) Arithmetic mean and standard deviation

4) Median and standard deviation

FTer RIS F FEHFAH 0TI HT IJ0TAT FFEF TR T HY AT 82
1) FATATAT ATET & 3TUR |

2) gAY foareteT & 3TUR 0

3) FHATAR ATET T TATT [aTelel & TR W)

4) AEgeT 9 TATT faaelsl & YR 0

Ques # :142

The coefficient of variation of a series is 30% and standard deviation is 15, then its arithmetic mean is-
1) 0.5

2) 5.0

3) 2.0

4) 50.00

T AU T TATT FA=ROT 30% & IUT TATT fa=rereT 15 & aY SUHT TATAIGT ATET §-
1) 0.5

2) 5.0

3) 2.0

4) 50.00

Ques # :143

Statistics diagrams are the instruments of-
1) Analysis

2) Interpretation

3) Presentation

4) Collection of data

HifETHT # SET-RT AT (EIHIon) §-
D) fyedwuor &

2) gt

3) gEqeieRoT

4) FHPT T FIGT
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Ques # :144

Method of analysis of variance was proposed by _
1) Sir Ronald A. Fisher(1923)

2) Sir Francis Galton(1877)

3) Wallis and Roberts(1911)

4) Karl Pearson(1932)

I faeeyor RAfer &1 afaareer fmar a1-
1) g7 OeiTes T, fheR(1923)

2) X whifad FMecs1(1877)

3) arfore g AEEA(1911)

4) areT RITE(1932)

Ques # :145

Select the correct formula of t-test is-

1) X— u
t: f
s v
2) X— u —
t = 'n
S V
3 - _
) ;= ’H'\-"X
5
4) X- —
t= ’Hw’}{
5

t- 98107 & fAT W g F1 77w AIfS-

1) X— u
t = S #\."n
2 X - _
) e= 12 #fn
Jfl._?_ —
), 4o
k)
4) X- —
t= }uw”g
s
Ques # :146

Magnesium, iron and Molybdenum metals are present in enzymes as activators are-
1) Cytochrome, Peptidases and Phosphotases respectively

2) Phosphatases, Cytochromes and Nitrogenase respectively

3) Fructokinase, Cytochromes and Nitrogen reductase respectively

4) Dehydrogenase, Kinase and Nitrate reductase respectively

FeRA, IR T Alforedaa UTq o Torerae & Wi & 0 A suftud e aw &
1) araeten, Yuerssald ud hiethe ot HHT:

2) BiEhe I, QIICIHIA, Td ATSeloTeiol ShQl:

3) therelehISeTol, ATACIShIA Td TS ol Reotere sl SheQl:

\ AN AN

4) FEgISSIoTaoT, FISaiof Ud slece Neolard ol HaeT:

Ques # :147

Ribozymes were discovered by-
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1) H.G. Khurana
2) Carl Woese, Francis Crick and Leslie Orgel
3) Monad and Jacob
4) Thomas R. Coch and Sidney Altman

USAATSH Y @i fHdet -

D wa gy

2) ahrek et ST o T el 3T
3) RIS T S

4) oTEe HR. e ve g sifecde 7]

Ques # :148

Which of the following statements is correct for beta oxidation of fatty acids?

1) Beta-oxidation occurs in cytoplasm. Glyoxalate cycle in glyoxysome and succinate produced enters into
mitochondria

2) Beta-oxidation and Glyoxalate cycle occur in glyoxisome and succinate produced enters into mitochondria
3) Beta-oxidation and glycolate cycle occur in Glyoxysome and Acetyl co-A enters into mitochondria
4) Beta-oxidation in liposomes, glyoxalate cycle occurs in peroxysome and pyruvate enters into mitochondria

FHIT 3rFal & dYer dTFHEHIT HT T FYT FATE?

D) drer 3iterelienor 1T g &, Tels3iierdole Ush TSN Faad 7 giar | vd 3curfed gedisie
ATSCIHITSAT 3 Faer el B

2) et 3T U TeT3edole sh TelehIAH H gdT & Ud 3cuTied Gardleie ATScIehii3ar 3 gaer
HIAT &

3) freT NFESUT U9 ToThTaIe sk TS aaH H idT & Ud THies o $I-TASaH-T
ATSCIRITZAT 3 T T |

4) e T AEHEH F TaE3iadee Tk TN # Ud qraede ATSIR 13T H yaer
FIAT |

Ques # :149

In prokaryotes the initiation of polypeptide synthesis occurs with the binding of the leader sequence of m-RNA
with the 30S ribosomal sub units. The leader sequence at the 3' end of the m-RNA is called as Ribosomal
Binding site(RBs) or Shine-Dalgarno sequence. This is-

1) 5'-GAA GAAG-3'
2) 5'-AGG AGGA-3'
3) 5'-AGA AGAG-3'
4) 3'-AAG GAAG-5'

WRRAICH 7 qifrITerss & HAYUT T TS TH.HR.UA.U(m-RNA) F 3rof) 37 & TSaaia
39SHTE 30S A T Bl & TRATA g1l 8] TH.A.TA.T.(m-RNA) F 3' BR 9 3ufwa raroft aregear
UFEIAIH A15 3T AIFES(RBs) AT ATGA-SeTEAY HeThar Y Fgelran 8, Te 8-

1) 5-GAA GAAG-3'

2) 5-AGG AGGA-3'

3) 5~AGA AGAG-3'

4) 3-AAG GAAG-5'

Ques # :150

Which of the following methods of DNA fingerprinting does not need PCR?
1) RAPD

2) RFLP

3) SSR

42/43



28/06/2016 College Lecturer Exam - Botany-II
4) ISSR

Ao o R i o 7§ @ slad) Ay F @ i sraegsar adi i &
D amudra

2) HR UH. TS

3) TETHAR

4) 37 TH.TH.IN
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